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(1056)
Note : Read the passage carefully and answer questions 1-5 from the choices given below:-

With the destruction of forests, water and land, we are losing our life-support systems.
This destruction is taking place in the name of ‘development’ and progress, but there must be
something seriously wrong with a concept of progress that threatens survival itself. The
violence to nature, which seems intrinsic to the dominant development model, is also
assoclated with violence to women who depend on nature for drawing sustenance for
themselves, their families, their societies. The violence against nature and women is built into
the very mode of perceiving both, and forms the basis of the current development paradigm.

Seen from the experiences of Third World women, the modes of thinking and action
that pass for science and development, respectively, are not universal and humanly Inclusive,
as they are made out to be; modern science and development are projects of male, westemn
origin, both historically and ideclogically, They are the Jatest and most brutal expression of a
patriarchal ideclogy which is threatening to annihilate nature and the entire human species.

1. *Development’ is resulting in:

A) Tremendous improvement in living standards

B) Destruction of forests and the ecosystem

C) Greater interaction between the West and the East
D) Increase in third-world prosperity

2. The use of forests and vegetation by mankind is an act of:

A) Benevolence

B) Industrial growth

) Economic development
D) Violence

3. Women and Mature are akin because:

A) Women depend on nature for the growth of crops
B) Both are exploited by men

C} Both symbolize infertility

D) Both are father-figures

4. The author blames science and development for

A) Being extremely patriarchal

B) Taking us to the level of the technologically advanced couniries
) Being partial to women

D) Preserving the human and animal species

5. The author defines “progress’ as:

A) A violence against life

B} A form of development

C) A method for underdeveloped societies to become like developed societies
D} A humanly inclusive science

6. Tick the appropriate meaning of the word OBNOXIOUS
A) Obscure B} Obstinate C) Obscene ) Disgusting



7. Tick the appropriate meaning of the word INFURIATE

A) Infringe B) Enrage C} Infuse D) Inferior
8. Tick the appropriate meaning of the word POT BELLY

A) Potted Plant B) Potent C) Potential D) Paunch
9. Tick the appropriate meaning of the word ANCESTOR

A) Elders B) Antique C) Anybody ) Anemic
10. Tick the appropriate meaning of the word MEDIOCRE

A) Mediator B) Average ) Middle-man D) Misfit
11. The cormrect meaning of “Caught Red Handed" is:-

A) Caught after some delay B} Never caught

C) Caught in the act D) Colouring one’s hands red
12. Which of the following is the correct meaning of “To End in Smoke':-

A) Come to Nothing B) Breaking of Fire

) Smoke from gunshet D) Peaceful end

13. Tick the correct meaning of *High Spirits’ from the choices given below:-
A) To be drunk B} High Price C) Cheerful D) Glum

14. *“Washing One's Dirty Linen in Public’ means:-
A} Calling the attention of the public
B) Discussing unpleasant private matters before strangers
) Washing clothes in from of others
[}) Winning public sympathy
15. The correct meaning of *Hand in Glove’ is:-
A) To put gloves on the hands B) On very bad terms
C) On very intimate terms D) Casual relationship
NOTE. Choose the correct alternative from the choices given below:

V6. It .ieieinsinns. Since early moming.
A) rained B) is raining (') has been raining 1) was raining

17. You have changed a lot ........ | saw you last.

A) when B) while C) before D) since
18. No sooner did the thief see the policeman ...... - he ran away.

A) since B) before C) than D) when
I9. Heis not ............. honourable man.

A)a B) an C) the D) for
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20, T must SEATE .o vvverirsinsereranse- 38Wn to reach the station in time.
A) at B) in C) since D) with

21. The opposite of INTROVERT would be:-
A) Extrovert B) Convert C) Dutsider D) Vagabond

22. The comect antonym of BACHELOR is:-
A) Spinster B) Maiden C) Damsel D) Femnale

23, Find one-word substitute for *Government for the People':
A) Autocracy B} Aristocracy C) Theocracy D) Democracy

24, SOCIOLOGY is the study of
A) Soil B) Society ) Solutions D) Seeds

25_ The appropriate meaning of AMATELUR is:-
A) Specialist B) Non-professional  C) Amicable D} Resident of America

26, The synonym of HYPERBOLE is:-
A) Exaggeration B} Upheaval C) Holocaust D} Lengthy

Note: Read the passage carefully and answer guestions 27-30 from the choices given below:-

Aristotle, the Greek philosopher, summed up the four chief qualities of money some
2,000 years ago. It must be lasting and easy to recognize, to divide, and to carry about. In
other words, it must be ‘durable, distinct, divisible and portable.” When we think of moncy
today, we picture it either as round, flat pieces of metal which we call coins, or as printed
paper notes. But there are still parts of the world today where coins and notes are of no use.
They will buy nothing, and & traveler might starve if he had none of the particular local
‘money” to exchange for food.

27. In some parts of the world a traveler might starve
A) even if he had plenty of coins and notes  B) even if he had local currency

C) even if he had no coins or notes D) if he did not know the rate of exchange
28. Coins and notes are of no use in some places because

A) they are not needed B) they are not recognized

C} they are not casy Lo carry about D} they are not as good as the local ‘money”

29, Local ‘money’ used for exchange of food would imply:
A) buying B) tools C) barter D) fodder

30. Aristotle lived during the years:
A)322-384 BC B) 522-584 AD C) 1500-1584 BC D) 1116-1222 BC

(3



3l. In which year did the Battle of Haldiaghat take place?
A) 1574 B) 1575 Cy1576 D) 1578

32, The famous book ‘Satyartha Prakash® was wrilten by:

A) Bankim Chandra Chatterjee
B) Swami Davanand Saraswati
C) V.D. Savarkar

) Bal Gangadhar Tilak

13, The character of Mickey Mouse was created by

A) Graham Greene B) Walt Disney
C)R.K. Laxman D) Gore Vidal
34. The higher civil honour in India is
A} Vishisht Seva Medal B) Param Vir Chakra
C) Padma Vibhusan D} Bharat Ratna
35. Who is the author of the famous book “Discovery of India™?
A) Sarojini Naidu B} M.K. Gandhi
) Vallabhbhai Patel D) Jawaharlal MNehru
36, How much of world's surface covered by water?
A) 55% B 0% C) 705 D) 25%
37, Which was the first linguistic state to be created?
A) Kerala B) Tamil Nadu
C) Andhra Pradesh ) Maharashtra
38, Arundhati Roy is the author of:
A) God of Small Things B) Disgrace
C) The Tin drum D) My Childhood Days

39, The “King of Metals™ is:
A) Gold B) Silver ) Iron D) Aluminium

40. Which of the following rivers originates from Trans Himalayas?
A) Yamuna B) Sindhu C) Saraswati D) Ganga

41, Earth day is celebrated on:
A) April 4 B} September 17 C) April 22 D) February 16

42. The state which decided to grant relaxation in the two-child policy applicable to state
government employees in November 2015 is.......

A) Haryana B) Kamatakn C) Rajasthan D)Madhya Pradesh
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45.

47,

48.

49,
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53,

The 46" International Film Festival of India (IFFI) was held in Movember 20-30,

20015 in.....

A) Mumbai, Maharashtra B) Kolkata, West Bengal

C) Chennai, Tamil Nadu D) Panaji, Goa
. The main river of Bhutan is:

A) Sankosh B} Dhansiri ) Subarnarekha D) Ranjit

Heat and Smoke in a Kitchen are transferred through the chimney by

A) Conduction B) Suction ) Convection ) Radiation
. The normal symbalic blood pressure is

A) 140 B) 120 C) 180 D} 80

If the President wants to resign, he shall address his letter of resignation to:

A) Prime Minister of India B) Speaker of Lok Sabha

C) Vice President of India D) Chief Justice of India

Mixed Economy means;

A} Promoting both agriculture and industries in economy
B) Co-existence of rich and poor

C) Co-existence of large and small industries

D} Co-existence of public and private sectors

Which article of Indian Constitution deals with Election Commission?
Al Article 352 B) Article 356 C) Article 360 ) Article 324

.India bom Vijai Sheshadri won prestigious *2014 Pulitzer Prize’ in which of the

following categories?
A) Music B) Poetry C) Drama 1) Journalism

. Pointing to Ketan, Namrata said, "He is the son of my father's only son." How is

Ketan's mother related to Namrata?

A) Sister-in-law B) Aunt ) Sister ) Daughter

Ravi is son of Aman's father's sisier. Sahil is son of Divya who is mother of Gauray
and grandmother of Aman, Ashok is father of Tanya and grandfather of Ravi. Divya
is wife of Ashok. How is Gaurav's wife related to Tanva?

A) Niece B) Sister C) Sister-in-law D) Data is inadequate

If CONTRIBUTE is written as ETBUIRNTOC, then which letter will be in the sixth
place when counted from the left of POPULARISE is written in the same way?

AR Bl ClA DL
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54. In a coding language, the letters of the English alphabet are arranged in such a manner
that all the vowels are put in the end and the remaining letters are arranged from the
first letter onwards. The rearranged alphabets are used to denote the position occupied
by letters in the original alphabets, What is the code of META7

A) TEAM B) QGYB C) LWPV D) PWLY

55. If "lead’ is called ‘stick’, "stick' is called 'nib’, ‘nib' is called 'needle’, ‘needle’ is called
‘rope’ and ‘rope’ is called ‘thread’, what will be fitted in & pen to write with it?

A} Stick B} Lead C} Needle ) Nib
56. Choose the odd pair of words.

A) Cow: Calf B) Dog : Bitch C) Tortoise: Turtle D) Insect ; Larva
57. Choose the odd pair of words:-

A) China: Beijing  B) Russia : Moscow  C} Japan: Singapore D) Spain : Madrid

58. A iselder to B while C and D are elder (o E who lies between A and C. If C be elder to B,
which one of the following statements is necessarily true? |

A)AiseldertoC B)CiseldertoD C)Diselderto C D) Eiselderto B

59. Alka is older than Mala, Gopal is older than Mala but younger than Alka. Kapil is
younger than Ram and Mala. Mala is older than Ram. Whose age is exactly in the middle
of all the five?

A) Mala B) Gopal C} Ram D) Alka

60. If '+ means ‘minus’, 'x' means 'divided by, '+' means ‘plus’ and ' means 'multiplied’
then which of the following will be the value of expression 252 x 9432 + 9217

A) 95 B) 168 C) 192 D) 200

61. Arrange the following in a sequence:
|. Rainbow 2. Rain 3. Sun 4. Happy 5, Child
A)2,14,3,5 B) 2.3,1,5.4 C)4.2.3,5.1 D) 4,5,1,2.3

62. A shepherd had 17 sheep. All but nine died. How many was he left with?
A) Nil By B c)9 Dy 17

63. If every second Saturday and all Sundays are holidays in a 30 days month beginning
on Saturday then how many working days are there in that month?
A)20 B) 21 C)i2 D23

64, Which one of the following cannot be formed by using the leiters of the word
INTELLIGENCE?

A) TILLAGE B) INSIGHT C) GENTLE D) NEGLECT

63, Select the odd one out
A) Pigeon B) Crow C) Butterfly D) Parrot
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66. Kunal walks 10 Km towards North, From there he walks 6 Km towards south then he
walks 3 Km towards east. How far and in which direction is he with reference to his
starting point?

A} 5 Km West B} 7 Km West C) 7 Km East D} 5 Km North East

67. Gopal starts from his house towards west. After walking a distance of 30 meters he
turned towards right and walked 20 meters. He then turned left and moving a distance
of 10 meters, turned to his left again and walked 40 meter. He now tumns to left and
walks 5 meters. Finally he turns to his left. In which direction he is walking now?

A) North B) South C) East D) West

68. Find out which two of the given statements cannot be true simultaneously, but can
both be falsa?

1. All animals are camivores 2. Some animals are not camivores
3. Animals &re nol camivores 4. Some animals are carnivores
A)land 2 B)2and 3 Ch1and3 D) 3and 4

69. Sclect the lettered pair that has the same relationship as the original pair of the words
Bird: Cage

A) Animals: Zoo B) Thief: Prison
C} Antique: Museum D) Crime: Punishment
70. If GO=32, SHE = 49, then SOME will be equal to
A) 56 B) 58 C) 62 D) 64

71. Name the annual fair of Rajasthan, which is famous for its camel trading event.
A} Pushkar Mela B) Sonepur Mela ) Kumbha Mela D) Suraj Kund Mela
72. SCUBA diving is associated with:
A) Farm Tourism B) Water Based Adventure Tourism
) Air Based Adventure Tourism D) Land Based Adventure Tourism
73, Harmandir Sahib is located in the city of:
A) Nanded B) Hemkund C) Amritsar D) Dethi

74. The Bandipur national park is located in which of the following state:
A) Madhya Pradesh  B) Tamil Nadu C) Karnataka D) Kerala

75, Chandigarh “The City Beautiful' is designed by:
A) Lehman Brothers B} Haffer Contractor
() Le Corbusier D) Nek Chand

76. Expand NCHMCT:

A} National Council for Hotel Management and Catering Technology

B) Mational Council for Hospitality Management and Catering Technology
C) National Commission for Hotel Management and Catering Technology
D) National Council for Hospitality Management and Catering Tourism
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77. Which one of the following is the Indus valley civilization site in Gujarat?
A) Dholavira B) Banawali C) Hulas ) Ropar

78. McDonald's the international chain of fast food was founded in which country?
A) China B) Germany C) USA D) Thaitand

79, Culinary tourism is refated to:
A) Food B) Flora & fauna C) Culture D) Heritage

80, Chilka Lake is in which state?
A} Unarakhand B) Maharashtra C}) Andhra Pradesh ) Orissa

81. Which state is known as India’s Spice Garden?

A) Karnataka B) Kerala C) Goa D} Sikkim
£2. Who is holding the position of Union Minister of Tourism in India?

A) Chiranjeevi B) Shripad Yasso Naik

C) Subodh Kant Sahay D) Dr. Mahesh Sharma

£3. Which of this famous tourist attraction is not located in Srinagar?
A) Nishat Garden  B) Hazratbal Shrine ) Chashm-g-Shahi D)) Mughal Garden
84. A hotel employee who handles tour reservations and travel arrangements ete is called as:
A) Housckeeper B) Concierge C) Chef De Cuisine D) Front Office Executive

#5. Pondicherry was a colony of:

A) Spanish B) French C) Dutch D) Portuguese
86. Founder of Hotel Taj Mumbai was:

A) Jamshedji Nusserwanji Tata B) Nusli Wadia

C) Ghanshyam Das Birla D) Dhiru Bhai Ambani
87. Galileo in tourism industry is a:

A) Computer reservation system B) Car rental software

C) International Hotel Chain D) Video game software
B8. Valley of flowers is located in:

A) Jammu & Kashmir B) Himachal Pradesh

C) Untarnkhand D} Assam

89. What is the theme selected by UNWTO for world tourism day in 20167

A) One billion tourists, one billion opportunities

B) Tourism for All - Promoting Universal Accessibility
C) Tourism ~ Celebrating Diversity

D) Sustainable tourism

L)
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9. The brand *“OY 0" is the new concept in tourism business deals with.

A) Train Ticket Bookings B) Hotel Rooms Bookings
C) Airline Ticket Bookings D) Car Rentals

91. If you are staying in a five star hotel, you are:
A) Affluent Class Tourist B) Middle Budgeted Tourist
) Budget Class Tourist D) Very Low Budget Tourist

02, W Marriot is a:
A} International Hotel Chain
B) International Travel Agency
C) National Level Adventure Travel Company
D} Transport Company
93. Which one of the following Organizations is operating youth hostels, around the world?
A) CARE B) UNESCO C) YMCA D) UNHCR

94. In the recent past one of the airline company in India bankrupted, we are taking about:
A} Alr India B) Jet Airways C) Kingfisher D) Indigo

95, Your friend’s facebook profile picture shows ‘Beating Retreat’ ceremony at an
international border, he is in which city?

A) Amritsar B} Chennai C) Jaipur [¥) Chandigarh
96, What is itinerary?
A) A hotel service voucher B) A restaurant service voucher
C} A detailed tour programme D} A transport service voucher
97. What is ‘Kadaknath'?
A} Indigenous Black Chicken B} Name of the Hotel
C) Hollywood Movie D) Name of the Travel Agency
98. Red wine is served at:
A) Room Temperature B) Frozen C) Chilled D) Boiling Hot
99, Carlsberg is the famous brand name of:
A) Whiskey B) XXX Rum C) Beer D) Vodka
100. If Thailand is ‘dmazing ' then Malaysia is Truly Asia’. What is India?
A) Incredible B) Unforgettable C) Unigue ) Beautiful
X-X-X
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